UNIT 3 Linear Patterns- Supplement 3

         

Name_______________________

Part I - Write and Graph Inequalities
Write an inequality for each sentence.  Be sure to define a variable.

1)  More than 5,000 fans attended the football game.

2)  Her earnings were not more than $56.

3)  A checking account balance is now less than $600.

4)  The number of students is at least 25.

5)  The dogs weigh 27 pounds or less.

6)  The minimum required height is 42 inches.

Graph each inequality on a number line.

7)  b < 6





8) d < 15
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9)  b > 5





10)  a < 17
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11)  m > 23




12)  y > 9
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Part II - Solve and Graph 1-step Inequalities


Solve each inequality showing all steps.  Then graph the solution on the number line.

1)  7x < 14
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2)  n – 9 < 12
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3)  j + 6 < 12
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4)  
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> 10






 SHAPE  \* MERGEFORMAT 



5)  z – 6 > 9
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6)  Marley would like to buy a new pair of running shoes.  The shoes he likes starts at $100.  If he has  

     already saved $52, write and solve an inequality to show how much more money Marley must save.  

     Then graph the solution on the number line.
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Part III - Solve and Graph 2-step Inequalities
Write, solve, and graph a 2-step inequality to represent each sentence.

1)  12 is greater than 3 more than 3 times a number.
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2)  16 less than 5 times a number is greater than 34








 SHAPE  \* MERGEFORMAT 



3)  Ten less than 2 times a number is greater than or equal to 18.
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4)  Fred gets paid $8 for each hour he works at the grocery store, plus an extra $2 for every store  

      membership card he sells.  How many membership cards (m) does he have to sell if he wants to 

      make more than $40 for working 4 hours?  Write and solve a 2-step inequality to find the number of 

      memberships (m).  Then graph the solution on the number line. 
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UNIT 3 Linear Patterns- Write and Graph Inequalities

         Name_______________________

Additional Practice 
Write an inequality for each sentence.  Be sure to use the variable that was defined.

1)  The maximum weight (w) is 45 grams.
2)  The people all weighed over 100 pounds (p).

3)  You must have at least 5 people (p) for the club.

4)  The temperature was greater than 90 degrees (d).

Graph each inequality on a number line.

5)  m > 7





6)  s < 45
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7)  h < 6






8)  j < 12
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9)  g < 9






10)  y > 5
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UNIT 3 Linear Patterns- Solve and Graph 1-step Inequalities
Name_______________________

Additional Practice 
Solve each inequality showing all steps.  Then graph the solution on the number line.

1)  9x < 18
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2)  n – 12 < 10
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3)  j + 8 < 30
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4)  
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5)  z – 5 > 12
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6)  A fish tank can hold a maximum of 44 gallons of water.  The tank currently contains 10 gallons of  

     water.  Write and solve an inequality to find how many more gallons of water the tank can hold.   

     Then graph the solution on the number line.
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UNIT 3 Linear Patterns- Solve and Graph 2-step Inequalities
Name_______________________

Additional Practice 
Write, solve, and graph a 2-step inequality to represent each sentence.

1)  56 is greater than 6 more than 5 times a number.
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2)  20 less than 5 times a number is greater than 100.
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3)  Seven less than 4 times a number is greater than or equal to 17.
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4)  Jensu gets 8 points for each book she reads plus an extra 5 points for each book report written.  If she  

      reads 3 books and wants at least 34 points, how many reports (r) does she have to write?  Write and 
      solve a 2-step inequality to find the number of reports (r).  Then graph the solution on the number 
      line. 
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